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a. g=gg 000,000 f0000 V(f,9)=V(fg)U
V(f7g2>

Proof. gi(x) =0=g(x) =0 (i=1,2) 00 V(f,g:) C V(f,9) (i =1,2).
000 V(f,q1)UV(f,92) CV(f,g) DDOOD.

Og(x) =0=¢g1(x) =0000 go(x) =0000,0x € V(f,g9) = x €
V(fagl)DDD XGV(f,QQ)D ooo V(fvgl)uv(fag2) DV(f,g) oo
ooo.

0000 V(f,g1)UV(f,9)=V(f,g) DODODO. O

b. RROOOO, Vy—2*2z—y*) =V(y—2*zz—2) O
RN

Proof. y—2> =000 2z—y?=0000 2z—2*=0. y—22=000
rzz—2t=0000 2z —y%=0.
0000 V(y—a%,2z —9?) = V(y — 2%, 2z — o%). O

c. allO0OO0O pOOOOODOOO

00,00000000 twisted cubicO zOOOOODDO.



